FIN 2200 – CORPORATION FINANCE

Sum 2007
Instructors: A. Dua
Assignment #1 answer key


1. Firms issue securities or financial instruments (or claims) to raise capital.  These claims are classified as: 
a) stocks or bonds 
b) debt or equity 
c) contingent claims on the value of the firm 
d) all of the above 
e) none of the above. 
2. The balance sheet is made up of what five key components: 
a) fixed assets, current liabilities, long term debt, tangible current assets and shareholders equity 
b) intangible fixed assets, current liabilities, long term debt, net income and current assets 
c) fixed assets, long term debt, current assets, current liabilities and shareholders equity 
d) current assets, fixed assets, long term debt, shareholders equity and retained earnings 
e) none of the above. 
3. Value is created and recognized over time if: 
a) cash raised is invested in the investment activities of the firm. 
b) funds are raised in the capital markets. 
c) cash paid to investors, shareholders and bondholders is greater than cash raised in the financial markets. 
d) Management pursues activities to reduce taxes to zero. 
e) all of the above. 
4. Finance determines the value of an investment made by the firm depends on: 
a) the cash flows of the firm

b) the timing and risk of the cash flows

c) the profits earned under GAAP 
d) A and C 
e) A and B 
5. The Simple Corporation has outstanding obligations to the Complex Corporation of $250.  It is year-end and the total cash flow of Simple from all sources is $325.  The contingent payoff to the debt-holders and the equity-holders is: 
$250; $75 
6. The Splitz Corporation has borrowed $5 million in debt with a promise to repay $5.5 million in one year.  The corporation had 10 million shares outstanding worth $2 each at the time of the borrowing.  Splitz earns $6 million during the year.  In millions of dollars what is the debt-holder's contingent claim; how much do the debt-holders receive; and, how much do the equity holders receive? 
5.5; 5.5; .5.

7. Shareholders attempt to control managerial behavior by: 
a) electing the board of directors who select management.
b) the threat of a takeover by another firm. 
c) setting compensation contracts and tying compensation to corporate success. 
d) A and B 
e) A and C. 
8. Fixed assets can be either tangible or intangible. Intangible assets are: 
a) property, plant and equipment 
b) can be converted to cash in the normal course of business 
c) can be very valuable, although they have no physical presence, such as trademarks or patents 
d) are highly liquid 
e) none of the above. 
9. Debt is a contractual obligation that: 
a) requires the payout of residual flows to the holders of these instruments. 
b) requires a repayment of a stated amount and interest over the period. 
c) allows the bondholders to sue the firm if it defaults. 
d) Both a and b. 
e) Both b and c. 
10. For financial management purposes it is useful to look at time in two distinct parts because: 
a) in the short run most production resources are fixed but can be varied in the long run. 
b) long run costs are fixed while short run costs are always variable. 
c) all decisions to invest have short and long run components that imply different elements of control. 
d) both a and b. 
e) both a and c. 
11. The TimeNow Corporation had 2001 fixed assets of $1345, current assets of 260, current liabilities of 180 and shareholder's equity of 775. The 2000 fixed assets were 1300, current assets of 220, long-term liabilities of 610 and shareholder's equity of 750. What was the change in net working capital for TimeNow in 2001? 
Solution:
2000 CL = 220 + 1300 – 610 – 750 = 160


2000 WC = 220 – 160 = 60


2001 WC = 260 – 180 = 80


Change in WC for 2001 = 80 – 60 = 20

12. From the following income statement information, calculate Johnson Corp.'s after tax cash flow from operations.
Net sales = $ 2,500
Cost of goods sold = $ 1050
Operating expenses = $ 490
Depreciation = $ 300
Tax rate = 34% 

Solution:
Income before taxes = 2,500 – 1,050 – 790 = 660


Income after taxes = 660 – 34%(660) = 435.60


Cash flow after taxes = 435.60 + 300 = 735.60


Note: Depreciation is a non-cash flow expense and must be added to NI.
13. Over the year, the Rigem Co. had cash flow from operations of $938, and had net capital spending of $225. In addition, the firm's Net Working Capital increased by $73. What was Rigem's total cash flow? 
Solution:
Total CF = 938 – 73 – 225 – 640.

14. If the amount of money to be lent is exactly equal to the amount desired to be borrowed then the market is cleared at: 
a) the equilibrium interest rate 

b) the marginal rate of substitution 

c) the crossover rate 
d) the short term yield curve rate 
e) none of the above 
15. An individual with no investment opportunities has income of $5,000 in period 0 and income of $6,000 in period 1. If the interest rate is 5%, provide several examples of possible consumption patterns. 
Examples: 
a) $0 in period 0 and $11,250 in period 1. Loan out $5,000 in period 0 and receive an additional $5,250 for period 1.
b) $7,000 in period 0 and $3,900 in period 1. Borrow $2,000 in period 0 and pay back $2,100 in period 1.
c) $2,000 in period 0 and $9,150 in period 1. Loan out $3,000 in period 0 and receive an additional $3,150 for period 1.

16. The straight line that connects the maximum that one can consume in Year 0 with the maximum that one can consume in Year 1 represents: 
a) all the investment possibilities and has a slope equal to (1+r) 
b) all the best consumption alternatives and has a slope equal to -(1+r) 
c) all the savings choices and has a slope equal to 1 
d) all the best consumption choices and has a slope equal to 1 
e) none of the above. 
17. An individual with no investment opportunities has income of $15,000 in period 0 and income of $10,000 in period 1.  If the interest rate is 7%, which of the following points is on the individual's consumption possibility line? 
a) $ 3,000 in period 0 and $21,215 in period 1 
b) $ 4,000 in period 0 and $21,116 in period 1 
c) $10,000 in period 0 and $15,350 in period 1 
d) $16,000 in period 0 and $ 9,000 in period 
e) $18,800 in period 0 and $ 6,200 in period 1. 
Solution:
a)
Loan out $12,000 at t = 0 and receive $12,840 at t = 1 to go with $10,000.

b) Loan out $11,000 at t = 0 and receive $11,770 at t = 1 to go with $10,000.

c) Loan out $5,000 at t = 0 and receive $5,350 at t = 1 to go with $10,000.

d) Borrow $1,000 at t = 0 and pay back $1,070 at t = 1 reducing the $10,000.

e) Borrow $3,800 at t = 0 and pay back $4,066 at t = 1 reducing the $10,000.

18. The process of arbitrage: 
a) occurs as one strikes a deal in one market and simultaneously makes a more favorable offsetting deal in another market. 
b) will take place until all excess profits are eliminated. 
c) acts to ensure that one market rate exists for equal risk lending and borrowing. 
d) all of the above. 
e) none of the above. 
19. The first or basic principle of finance dictates that individuals will invest in a project if: 
a) they are made better off in the financial market. 
b) they are unable to adjust their savings and consumption in the financial market. 
c) the project is at least as desirable as what is available in the financial markets. 
d) the interest rate for borrowing and lending is not equal. 
e) all of the above. 
20. You have an investment opportunity available to you that requires $400,000.  You have no funds available but you will have income of $120,000 this year.  The investment will have a net payoff $33,000 at the end of the year.  If the market rate is 7.5%, will you make the investment and why? 
a) No, because I need $280,000 more than I will have 
b) Yes, because I will $3,000 above my minimum required return. 
c) No, because I only get $33,000 back on my $400,000. 
d) Yes, because the market rate is less than the borrowing rate. 
e) None of the above. 
Solution:
Yes, because 


Financial market return = 400,000 x 1.075 =
$30,000


Investment return
$33,000

21. The consumption opportunity set moves further out when an investment is available because: 
a) the total number of alternatives are now greater. 
b) the investment return is better than what is available in the financial market. 
c) the project rate of return is less than the market rate. 
d) the market rate is irrelevant to the investment choice 
e) none of the above. 
22. You have an investment opportunity available to you that requires $400,000.  You have no funds available but you will have income of $120,000 this year.  The investment will have a payoff $433,000 at the end of the year.  If the market rate is 8.25% what is the net present value? 
Solution:
Financial market return = 400,000 x 1.0825 =
$33,000


Investment return
$33,000


Since returns are equal, NPV of investment = 0

Or:
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23. An individual has $60,000 income in period 0 and $30,000 income in period 1.  If the individual desires to consume $19,000 in period 1 and the market interest rate is 8%, what is the maximum amount of consumption in period 0? 
Solution:
$70,185. Borrow against $11,000 of period 1’s income and receive 11,000/1.08 to go with $60,000

24. An individual has income of $40,000 in period 0 and $45,000 in period 1.  An investment opportunity that costs $10,000 in period 0 is worth $11,000 in period 1.  What is the maximum possible consumption in period 0 if the individual consumes $50,000 in period 1? 
Not enough information is given to determine an answer. 
(no “r” given)
25. An individual has income of $35,000 in period 0 and $40,000 in period 1.  An investment opportunity that costs $10,000 in period 0 is worth $11,800 in period 1.  What is the maximum possible consumption in period 0 if the individual consumes $50,000 in period 1 when the market rate of interest is 8%? 
Solution:
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Since NPV > 0, project is accepted.

At t = 0 borrow $1,800 against the $40,000 + $11,800 = $51,800 available at t = 1 and receive 1,800/1.08 = $1,667.


At t = 0 we can consume 35,000 + 1,667 – 10,000 = 26,667

26. Corporate managers can maximize shareholder wealth by choosing positive NPV projects because: 
a) all investors have the same preferences. 
b) the unhappy shareholders can sell off shares. 
c) the separation theorem in financial markets states that all investors will be satisfied with the same investment decision regardless of personal preferences. 
d) managers are wiser than shareholders regarding investments. 
e) none of the above. 
27. A corporation has the following opportunity to invest in a project with a return of $46,900 in one period.  The current investment required is $42,000. The financial market rate is 7%.  What are the NPV and the investment decision? 
Solution:
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Since NPV > 0, invest.

28. Your earnings are $50,000 at t = 0 and $60,000 at t = 1. The market rate of interest is 15%. An investment opportunity is available that allows you to invest $40,000 at t =0 and receive $45,000 (with certainty) at the end of one year. If you decide to consume $55,000 this year (t = 0), your maximum consumption next year (t = 1) will be

Solution:
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Since NPV < 0, reject investment.


Consumption at t = 0:
55,000 = 50,000 + 5,000 (borrowed)


Consumption at t = 1:
60,000 – 5,000(1.15) = $54,250.

29. The director of capital budgeting at ABC Corporation has found a one-year project that requires an initial outlay of $12 million but will result in a positive NPV of $500,000. She estimates the one-year return on this project to be 25%. The market rate of interest that is implied is

Solution:
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